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"The- gifted child is one, who is

specific in the quantity. of his
production, rate and quality." This

statement is given by —

(A) Terman & Oden
(B) Carrol & Martens
(C) R.W. Taylor

(D) None of the above

During the teaching-learning process
of children, the information, regarding
how they are performing, should be

given to them — o

after the completion of that

(A)
work.

{B) continuously during the phasé of
work.

(C) once in the mid of that work.

(D) there is no need.

If there is learning disabled child in

your class then what will you do ?
(A) Do not pay any attention to him.

Try to find out his/her type of

(B)
disability and make efforts to
teach them.

(C) ‘-Take his extra classes.

(D) Make his/her sitting

arrangement with intelligent
students.

[ P.T.O.
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Which statement is not true regarding

‘recommendation of NCF-2005 ?

(A) Keeping universities free - from

politics

(B) Connecting knowledge to the

outside life

(C) Respecting democratic values of

nation

(D) Flexibility in examination

- For the language dévelopmcnt of a

child it is important to —

(A) give j;hern opportunities to
express their thoughts.

(B) activities should be nrganised for
de\'reloping language skills.

(C) vgive practice ‘to writing, reading,

speaking and listening.

" (D) all of the above.

‘Hunger' and 'Thirst' are —

(A) personal motive

(B) innate motive

(C) social motive

(D) acquired motive
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Classroom communication between

teacher and students should be —
Textbook centered

(B) Student centered

(C) Teacher centered

(D) Objective centered

If a child reaches school always late

then what will you do ?

(A) Scold him so that he does not
repeat it again.

(B) .Talk to the Principal.

(C) Contact his parents. ; ‘

(D) Talk to the child and try to find

out the reason.

Which approach is most appropriate

in education in the present context ?

(A) Behaviouristic approach
(B) Constructivistic approach
(C) Structuralistic approach
(D) Humanistic approach

In schools what is found most lacking

in many teachers towards their
students ? .
(A) Affection
(B) Anger
(C) Accusing
(D) Hatred
| PT.Q.
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What type of questions should be
asked to students in the
examination ?

(A) Memory and undérstanding
- based '

(B) Objective and subjective

(C) Understanding and application
based ,

(D) Only objective

Therc are multilingual students in a
class; this situation creates —

(A) hindrance in teaching-learning
process

(B) problem of coordiriaiion among
the students

(C) frustration in teachers
(D) rich resource of learning

While teaching in a class you feel that

suddenly students have started

taking disinterest, then what will you

do ?

(A) Do not pay attention and
continue teaching.

(B) Stop teaching.

() Ask students to concentrate.

(D) Try to find out the reason.

Formula of Achievement Quotient
is —

(A) A.Q.= “é[":'xloo
(B) AQ.= g:::xwo
) AO. = %ﬁ—:xloo
D) AQ.= -%'%%XIOO
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15. At the upper: primary level, a teacher

should have a knowledge of action

research because —

(A) they will develop .an ability to

©  identify the problems of children
and skill of improvement. v

(B) they can make self-development.

(C) they cah teach: the students
effectively.

(D) they develop the skill of doing
rescarch. :

"Project Mecthod' is founded by —

“(A) Durkheim

(B) Plato
(C) Kilpatrick
(D) Socratés

Three important points. of Evaluation

Process are —

*

(A) .. objectives, learning experiences

and tools of evaluation
(B) student, teacher and objectives

(C) student, society and Ilearning

experiences
(D) student, examination and result.

The classroom environment should
be=—

(A)" quiet

(B) full of noise

(C) disciplined
(D) friendly

[ P.T.O.
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Hardware Approach is based on

which principle ?
(A) Industrial
(B) Engineering
(C) Professional
(D) Instruction

What type of problems are faced by
children in adolescent stage ?

(A) Adjustment .with physical and
mental changes :

(B) Adjustment with peer groups
(C) Adjustment with parents
(D) Study related adjustment

Children of 6 to 14 years who have
never gone to school or have not
completed their school education the
Right to Education Act, 2009 has
done a provision to mainstream them
with education by —

(A) emphasized on implementing
special syllabus
(B) emphasized on iﬁlplementing

special training
(©) opeh separate schools for them
(D) appoint teachers for them
Match the following :
a) Unifactor theory 1) Guilford.
b) Multifactor theory ii) Binet

c) Group factor iii) Thorndike

theory

d) Three-dimensional iv) Thurstone
theory
a b (& d

(A) (i) (1i1) (il reee i)
(B) (iv) @ @) (1)
(C) (in) (iv) (1) (i)
(D) 1) (1) (i) (iv)
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If a child of your class remains quiet
often then what will you do ?

(A) Do not pay any attention to him.

(B) Take him to a psychologist.

(C) Try to find out the reason of his
quietness.

(D) Talk to his parents.

Continuous and comprchensive

evaluation means —

(A) to take monthly tests regularly.
(B) to assess scholastic and co-
scholastic areas regularly during
the process of learning.
(C) to organise various activities in
- the classroom regularly.
(D) to assign marks or grades.

What is not included in child centered
education ?

(A) Assigning homework.
(B) Motivate child to ask question.
(C). Giving  priority to  child's
experience.
(D) Appreciate the creativity of the
' child.
How  should be the sitting

arrangement in the classroom ?

(A) It should be according td the
activities being conducted in the
classroom.

(B) It should be same every day.

(C) To make children sit in one line.

(D) It should be in such a way so

that they can not talk to each
other.

[ P.T.O.
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28.

29.

30.

- (D)

[wl

Inter-personal intelligence means —

(A) to recognise the strength and
- weakness of self.
(B) skill to'motivate others.
(C) skill to understand different
people.
skill to communicate with

" others.

In the present time the role of a
teacher is as —

(A) knowledge giver *
(B) facilitator

(@) friend

(D) manager

In® your class, you- feel that some
students are lcarning very fast and
some are learning very slow. What
would you do in this situation ?

(A) Let the fast learners to continue
their learning.

(B) Do not pay any attention to slow
learners.

(C) Ignore this thing.

(D) Take help of fast learners to

teach slow learners.

In view of tcaching-learning process,
a good teacher is one who —

(A) succeeds to stop talking in
classroom.

(B) punishes talkers.

(C) - is neutral.

(D). thinks that talking can be used

as learning resources.
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First Language — ENGLISH

Language is a tool for — 2

A) knov?rlcdgc (B) communicaling

(C) thinking (D) communicating and thinking
Linguistics is — »

(A)  origin of language (B) relationship among languages
(C) how languages changc over time (D) all of these .

Question Nos. 33-34 : Choose the correct form of verb to complete the sentences :

| S e a lot of work today.

Ay do (B) did

(C) have done i ' (D) had done
He oo il out five minutes ago.

(A) goes . ' (B) has gone
(C) went : : : ' (D) had gone

“Laughter holding both her sides.”
The figure of speech used here is —

) Personification (B)  Simile

AC): Metaphor (D) .Oxymoron

Question Nos. 36-40 :  Each of the sentences is divided into four parts marked A, B,
: C and D. Choose the incorrect part and write its alphabet on
the answer sheet :

Swami Vivekananda was a men who became a legend  in his own tme . .

AL B j (& : D
The problem was  so difficult that nobody were able fo answer It .
A : B & D
Some people feels that with local dialect no progress is possible .
A B C D
Rita's son has applicd to the post of Assistant Manager in a construction comparny .
A B C D
The officer's strietly discipline has made him  very unpopular among  all the employees .
A B & D

L1_oo1 [ P.T.O.
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41.

42.

43.

44.

45.

46.

47.

Question Nos. 41-42 :  Out of the four alternatives, choose the one which best
: expresses the meaning of the given word :

Instigate

(A) initiate" (B) ir_lcite

(C) - force 5 { v (D), ustart
Augment

(A)  belittle 4 (B) degrade
(C) increase A (D) summarize

Question Nos. 43-45 : Identify the appropriate alternative for filling in the blanks in
the sentences given below : - i

Wordsworth was one of B e ) English poets of the romantic age.
(A) a greater | £ (B) the greatest

(C) the gréal (D) more great

No sooner did he arrive at the station s the train left.

@& when | (B) while

(C) than ‘ (D) where A

Roshan would have failed, .‘ ........ s o he not studied throughc;ut the year.
A) provided : (B) had :
(© might ) if

Question Nos. 46-47 : Choose the word with correct spelling to fill in the blanks in
the sentences given below :

M.rs. Sharma always wants to enjoy a ........................ life.
L (A) laxorious | (B) luxorous

(C) laxurious (D)  Iuxurious

Emperor Ashoka became ....................... after he had won the war against Kalinga.
A ‘ magnarmnous < b (B) magananimus

(C) magnanemus 5 (D) magnanimoé‘ 5



48.

49.

50.

51.

92,

53.

54.

55.

W |
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Question Nos. 48-49 :  Mark the antonym for the words given below :
Exterior
(A)  outer : (B) interior
(C) _internal : (D) insider
Pantheism I
(A)  anti-social 15y (B) antitype
(C) antithesis ‘ (D) antitheism :

Question Nos. 50-51 : Mark the synonym for the words given below :

Pardon
(@) give | (B) punish
(C) forgive (D) furnish
Abundant
@A) plentiful (B) artful
(C) harmful S5 : (D) forccful_

Question Nos. 52-53 : Choose the correct pronoun to complete the sentences :

Youand a8 2t o s must work together. '
() me - : B) my :
(G  him ' By
She has gone to Chennai, ........ AR is her birthp.lace;
» (A) where Fos . . (B) who
() which (D) that

Choose the correct prefix for the following words :
belief, rc'spcct.

A) mis 3 (B) non
(C) dis (D) un

Choose ‘one word substitution’ for the underlined part of the sentence given below :

Successful persons always look to the brighter side of the life.
(A) Pessimistic (B) Optimistic
(C) Hopeful . (D) Careful

[*1061_| e AR 1 PTIO;
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56

58.

59

Question Nos. 56-60 : Read the passage given below and answer the questions by

choosing the correct alternative that follow :
Our country gave birth to a mighty soul and he shone like a beacon not only for India
but also for the whole world. And yet he was done to death by one of our own
brothers and compatriots. How did this happen ? You might think that it was an act of
madness but that does not explain this tragedy. It could only occur because the seed
for it was sown in the poison of hatred and enmity that spread throughout the country
and affected so many of our people. Out of that sced grew this poisonous plant. It is
the duty of all of us to fight this poison of hatred and ill-will. If we have learnt anything
from Gandhiji. we must bear no ill-will or enmity towards any person. The individual is
not our enemy : it is the poison within him that we fight and which we must put an
end to.

Who is ‘the Mighty soul’ referred o in the above péssagc 2

(A) Nathuram Godsey (B) almighty God
(C) Mahatma Gandhi ; (D) None of them
Why was he done to death ?

(A) Because the poison of hatred and enmity had spread throughout the country and
countrymen.

(B) Because the message of love and non-violcnéc had spread everywhere.
(C) Because the people of India had lost their tolerance.

(D)  All of the indians wanted India to remain undivided.

Wr;at do we lcarn from Gandhiji ?

(A) - That we must hate all our enemies.

(B) That we must have no ill-will or enmity towards any person.

(C)  That Indians should provoke communal riots.

(D) That all may live in India but some of thém have right to be Indian.
What should we fight against in the individual ?

(A) Against love and hatred equally.

(B) Against individuals who do not have faith in God.

(C) Against non-violence message of Gandhiji. ’

(D) Against poison of hatred and ill-will present in the individual.

What is the poison referred to in the above passage ? .
(A) Hatred and goodwill to all other persons.

(B) Poisonous seeds and plants.

(&)} I'Iatrcd and ill-will towards other persons.

(D) Love and patriotism.
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62.

64.

65.

66.

67.

Second Language — ENGLISH

Qucstion Nos. 61-63 :

Elegant

(A)  grateful

(C) graceful
Amazing

) frightening ‘
(C) amusing
Irksémc

(A) annoying

(C) pleasing
Question Nos. 64-65 :
Culpable

(A) defendable
(] irrcqunsiblc
Arrogant

(A)  humble

(C) egoistic

Question Nos. 66-67 :

23

UTET-2

Choose one out of the four alternatives which best expresses

the meaning of the given word.

(B)

(D)

(13)

(D)

(B)

(D)

slothful

thankful

very surprising
altractive
soothing

facile

Choose the word opposite.in rr{caning to the given word :

(B)

(D)

B)

(D)

careless

blameless

cowardly

gentlemanly

Choose the correct form of verb to cbmplctc the sentence :

| SE I T n T A e English for five years.

()  study (B)

(C) have been studying (D)

& o eI L ns T asleep while he was driving.

() . falls (B)

(C) has fallen . (D)
| 1001 |

am studying

shall have studied

fell
will fall
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68.
69.

70.

7A.
T2

73.

74.

75.

76.

T4

Question Nos. 68-70 : Four words are givén in each question. Choose the word of
correct spelling.

(A)  Mandatary (3) Compalsory

(C) Temporari (D) Arguably

A) Dialogue : (B) Monolog ;

(C) Milege ~ (D)¢ Damaze

A) Tunnle (B) Trable

(C) Tumble (D) Tussel

Question Nos. 71-73 :  Each of the scntences is divided into four parts marked as A,

B, C and D. Choose the incorrect part to write its alphabet on
the answer sheet : :

There arce fifteen | top class institutions , of hotel management , at India

A / ) / C / D
Students are |, judged  on the basis |, from their personality
A B C 4 D '
Teachers were  ask o , speak extempore , on one of the given subjects
LA e B TR (e e E et e

Question Nos. 74-75 : Identify the correct alternative from the given ones to fill in
the blanks in the sentences given below :

I'need 'a pen. €ould youigive me ......ic.iiuvsiedevis T

(A) any ' (B) one

(C) samc : (D) apen

I talked to a group of children. Some of .................. were very intelligent.
)  them (B) their '

(C) they (D) theirs

Question Nos. 76-78 : Identify the correct alternative from the given ones to fill in
: the blanks in the sentences given below :

The thief .. iiv...o5 before the police arrived.

A) was running away (B) had run away

(@) ran away (D) . has been running away
RIS e T S e B since midnight.b

(A) - have been raining (B) has been raining

(C) rained . ; (D) was raining

| 1001 |
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80.

81.

82.

83.

84.

85.

25
Ineiay i siel iz in this trophy next year.

(A)  has participated

(C) participate

“O my love's like a red, red rose.”
The figure of speech used here is —
(A) Metaphor

(@) Personification

UTET-2

(B) will participate
(D) was participating
(B) Simile

(D') Oxymoron

Which method is helpful in permanent learning ?

(A) Listening
(C) Practising

Crying of a child is —

(A) language
(C) sound
Question Nos. 82-83 :
' sentences :
Hissfather-died ... oo o cancer.
() from
(C) with
I have eaten nothing .......... S yesterday.
(A) for
(€] sinee |

Question Nos. 84-85 :

(B) Cramming
(D) Reading
(B) dialect

(D) sigh language

Choose the correct preposition to complete the following

MB): .of
(D) off
(B) from
(D) dl

Identify the correct alternative from the given ones (o fill in

the blanks in the sentences given below :

Why should he ........o w50 by me ?

) : be suspected

(©)  have been suspected

Thie reclation” ;.5 iinaseassis the audience.
(A) was pleased

(C) have been pleased

| 1001 |

(B) being suspected
(D) suspect
(B) pleased

(D) will be pleased
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86.

87.

88.

89.

90.

Question Nos. 86-90 :  Read the following passage and complete the statements with
appropriate options :

One of the most famous monuments in the world, the Statue of Liberty. was presented
to the United States of America by the people of France. The grcat'stat'uc which was
designed by the sculptor Auguste Bartholdi. took ten yecars to complete. The actual
figure was made of copper supported by a metal framework which had been specially
constructed by Eiffel. Before it could be transported to the United States, a site had to
be found for it and a pedestal had to be built. The site chosen was an island at the
entrance of the New York harbour. By 1884. a statue which was 151 feet tall. had
been erected in Paris: The following year. it was taken to picces and sent to America.

- By the end of October 1886, the statue had been put together again and it was

officially presented to the American people by Bartholdi. Ever since then, the great
monument had been a symbol of liberty for the millions of people who have passed
through New York harbour to make their homes in America.

The Statue of Liberty was presented to America by —

@)  Eiffel.

(B) the people of England.

(C)  the people of France.

(D)  the people who made their homes in Arﬁericé.

The great statue which took ten years to complete was designed by —
(N Bartholdi. ' (B) Lutian.

(C) Eiffel. (D) a group of sculptors.
The great statue was taken to picces because —

@A) it needed a pedestal. : (B) it was not complete.

(C) itwas 151 feet tall. (D) it was a monument.

What was the site for the great monument to be installed ?

(A) At Adanta. (B) At the bank of Amazon.
(C) Washington D.C. (D) New York harbour.
Since October. 1886, it had been a symbol of — .

(A) sculptor. : . (B) liberty.

(C) fraternity. (D) honesty.
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©) JZ B Ll
: ST VSR

(©) J$T B RN
S

W B Al @

ttg/ o N o

RIS S WA 1

© Sutg B Sumizr

.85

.86

87

.88

.89

.90




91.

192,

93!

94.

99,

iUt
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‘Mathematics and Science

4 371 S HI¥ JI YT o @A & —
(A) 9604 :

(B) 9801

(C) 9936

(D) 9999

3 R 9H % 30 FleX o J g9 g g

T 3 7 : 3 8|, 39 fasor ® fohan gt
3R feTar 5T & sua 3 : 781 59 —

(A) 10 &
(B) 20 #eX
(C) 30 X
(D) 40 FieX

afs g HANG 99 S % G 7 3R
84 & Al 39 S&AT3 HT AT B —

(A) 38

(B) 40

(C) 42

(D) 48 ,

WO 35 foyy W dEne 1 A E —
(&) 1225 :

(B) 962

(C) 1489

(D) 630 :

603 T THITETE, 67 T [SheT TAe & 2
(A) 33

(B) .90

(C) 175

(D) 300

91,

=02,

93:

94

95.

|

The largest perfect square number of
4 digits is —

(A) 9604
(B) 9801
(C) 9936
(D) 9999

In 30 litre mixture of milk and water,

the ratio of milk and water is 7 : 3.
How much more water is added in
mixture so that the. ratio become
3:7—

(A) 10 litre
(B) 20 litre
(C) 30 litre
(D) 40 litre

If the difference of the squares of two
consecutive even numbers is 84 then
the sum of those numbers will be —

(A) 38 o
(B) 40
(€42
(D) 48

The sum of first 35 odd natural
numbers is —

(A) 1225
(B) 962
(C) 1489
(D) 630

One-third of 603 is what percent of
67 ?

(A) 33
(B) 90

() 175
(D) 300

.[P.T:O.



L =

UTET-2

96.

9t

7 9§ S T AR st Teél © 2
(A) TRIRE

(B) HETER
(C) @rarEA
(D) SR
;“T T 3P H BT W H SIS
. ¢ ' Ill]l" T
T . 20 cm
10 cm . H ‘
¢ l
S<_—]U cm_) UG_]() cer '
(A) 100 cm?
(B) 150 cm?
(C) 175 cm?
(D) 200 cm?
I A T —

98.

99.

100.

(A) TIOTT & T T A

(B) Tifore ferefor =i feifyy

(C) TAEHR HTAASH! 1 A ST I
(D) ATHEl T TR HTA BT TRIHT

225 TAT 550 % &g H fhaAl §&W 4,

5 R 6 diFl § yoid: o gidr & 2

A) 4

B) S

(C) 6

(D) 8
?I%\/g+%/§:3a>rx$rm:r%—
(A) 125

(B) 27

(Ck .16

(D) 64

36

[w]

96. Whi.ch. of the following is not an

Indian Mathematician ?
(A)- Sharangdev

(B) Mahaveer

(C) Baudhayan

(D) Brahmagupta

In given figure, the arca of shaded
region is — :

& 2 ©
|

T \ \
& ¥ ! 20 cmy

10 e’ ‘
i | 1
S<-1()(:m—>U‘-—l()m;“>

(A) 100 cm?

(B) 150 cm?

(C) 175 cm?

(D) 200 cm?

Pic chart is —

(A) a chart of formulae of
mathematics

(B) a  method of mathematics
teaching

(C) .an instrument forming circular
structures

(D) a method of representation of
data

How many numbers exist between

225 and 550 which are completely

divisible by all of 4, 5, and 6 ?

(A) 4

(B) S

C). 6

(D) 8

MER \/5 +3x =3, then the value of

xis —

(A) 129

(B) 27

(€) 16

(D) 64 °
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101. FA A W —
(A) 3T BT < 5S] HIVT < Hfderdt sHivr
(B) FHRIUT < WicTercil ShivT < 3TTeh SHI0T
(C) |HHIV < F=] HIT < ATYH HI0T
(D) St ST < T < s o

102. T% ©d § $& O a9 SehREr & | Gao
et 7 gnT 77 91 O] T 90T 248 1 Ta

% o = e
(A) 25

(B) 30

(C) 40

(D) 47

37

101.

102.

103. U GIuhR Mgl o7 a9 49 ¥ &1

(A) 77 mﬁ

(B) 126 |Hl
(C) 154 &
(D) 203 ¥H

104. T T Femr & o4 o 7 T @ —

(A)
(B)
(©)
(D)

100°
90°
7.9%
120§

103.

104.

UTET-2
In following the correct order is s

(A) obtusec angle < straight angle
< reflex angle
(B) right angle < reflex angle
< obtuse angle
(C) right angle < straight angle
< obtuse angle
(D) reflex angle < right angle ‘
i < straight angle
In a farm, there are some hens and
goats. The sum of their heads are

77 and sum of their legs are 248. The
number of hens in the farm are —

(A) 25
(B) 30
(C) 40
(D) 47

A semi-circular shaped window has -
diameter 49 cm. Its perimeter will

be== ’/TI = 272)
\ /

(A) 77 cm

(B) 126 cm

(C) 154 cm

(D) 203 cm

In given figure, the value of x°+ y°
will be —

A

(A) 100°

“(B) 90°

(C) 75°

(D) 120°

( P.T.O.
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105. 1-3 sl HH SXeR et 105. The value of 1-3 is equal to —

() %% S
(B) -: (B) ;
(Cy }g (S5 1—3
o ' Blhc

106. T UTE & T Y hehd W TF T W
A | Sl 3ih 3 ot Wigehdl arl —

107.

106. Throwing two dicec at the same time,

the

probability

of getting larger

" number at onc dice than another will

1 5 5

&) .= B) = 1 5
6 6 1 g
A w2 ® °
1 &

oy =

O 5 iBped (©) % D) 1

T QYIS | foehul sl S gl —

3

107. The number of diagonals in a regular

(A) hexagon will be —_
B) © (A) 3
) 9 B) 6
(D) 10 (C). 9
(D) 10

(256 )0 16 'X-(]6)O-18 T T4 %’ WA

108.
108. The value of (256)°'¢ x(16)°'® is
Al L : -
: :B)) E A 1
. (B) 4
(C) 16 © 16
S (D) 64

109.

TF g0 3 a8 § 2,400 To T 4 T

'ﬁ25206031ma°r3|aﬁ$m&§

.An amount becomes Rs.

2,400 in
3 years and Rs. 2,520 in 4 ycars.

St ﬁ T e The rate of annual compound interest
1S —

&) 10% (A) 10%

B e (B) 3%

(C) 8% (C) 8%

(D) 5% (D) 5%



110. U FHY i $9E x O HAL Ff &7 FoiT

111.

112

1135

- 114.T%

" (B)

ﬁmﬁé?ﬁﬂwrymegl$mwﬁ@ﬁ
HT I BT —

@ 5 ~
(B) yz
©).. %
X
(D) xyz

afs el Sgheis d Borl, BRI (frarT)
YT ST ! SN FEI: F, E AR VE
TR Wt S A SEeR T % STEN —
A) F+V B=2
(B) F-V+E=2
(C) F-ViE=2-
(D) FiV=E-2
2 §HI, 3 99U 6 Wl wemed ¥ fRw
TR T AT o1 I 2

T B
(B) foumsTg Byt
(C) (A) R (B) <HI
D) & § HIE T |
IE TSI § 98 i folar STEm —
(A) CXVIII
(B). XLVIII
(C) XCVIII
(D) LXVIII .
THFSR 1 kg % T 9 800 gm I
d1C WA HT FGH A B AT Hod R
= 1 feraren e & | 3HHT o § —
(A) 20%
24%
25%
40%

(©)
(D)

39

110.

L1Y;

£32;

1E3:

114.

UTET-2

The height of a room is x and the area
of two adjacent walls of room are y
and z respectively. The area of the
roof of room will be —

Yz
W .
B) yz
(€ £

X
(D) xyz'

In a polyhedron, if the number of
faces, edges and vertices are denoted
by F, E and V respectively then
according to Euler's formula —

(A) F+V-E=2
(B) . F~-V+E =2
(€ F-V-E=2
B} F+V=E -2

Which type of triangle will obtained
from sides 2 cm, 3 cm and 6 cm ?

(A) Acute angled triangls

(B) Scalene triangle

(C) Both (A) and (B)

(D) Nonc of these

In Roman system, 98 is written as —
(A) CXVIl :

(B) XLVII

(C) XCVIII

(D) LXVII

A shopkeeper uses a weight of
800 gm for 1 kg and professes to sell
his goods at cost price. His profit is —

(A) 20%
(B) 24%
(C) 25%
(D). 40%

[P.T.O.
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EES:

- (©)

116.

117

118.

£ G2 5

120.

= § et 9E E —

(A) 1592

(B) 1357

1729

(D) 1234

F=19 yefa o @ Ao § 9 € —
(A)
(B)
(&)

3 s = 9geich + 2 A

2 HTY = 9gcich + 3 HIEh

2 HIEE = Fged + 3 A

(D) 3 A =TI + 2 ATEF
ﬁ?ﬁ?‘{“ﬂiﬁ a, b a4r c % foa faam
(@axb)xc=ax(bxc) FeAT & —

() oM A

(B) shHfaHHT ad

(C) TaeRor HaH

(D) Head Haq

e freor w1 oty W BT FHeAs Hi
qgH % foi 39ge Tl €, Te & —

(A) ToveroneRs fafy

(B) @R Ay

(C) TR fary

(D) 3MTEA-FHA faty

ZTFR'P:Q=5:\8,Q:R=12\:7H?JT
R:S=14:15dl P: S oI HHF 8T —
(A 1:1

(B): 1:2

€)1 3

(D) 1:4

ot & feor 1 1 96T 2¥E § —
(A) T Tl F WL HAT

(B) 79 G i FHA

(C) TIOHT SIS T TahTH

(D)

T T % URAaar § 9F0T AT

40

RESS

116.

117.

118.

119.

120.

- (A)

Which of the following is Hardy-

Ramanujan number —
(A) 1592
(B) 1357
(C) 1729
(D) 1234

The relationship - between three
measures of central tendency is —

(A) 3 Median = Modc + 2 Mean
(B) 2 Mean = Mode + 3 Median
(C) 2 Median = Mode + 3 Mean
(D) 3 Mean = Mode + 2 Mcdian

For threc integers a, b and c, the law

(axb)xc=ax(bxc) is called —

(A)
(B)
(C)
(D)

The method of mathematics tcaching
which is not suitable to teach lower
classes is —

Multiplicative law
Commutative law
Distributive law

Associative law

(A) Analytic method

(B) Lecture method -

(C) Laboratory method

(D) Inductive-Deductive method
fP:0=5:8,.0: R=12 -7 and
R: S = 14 : 15 then the value of
P: S:will be —

(A)- L=l

By - k=2

(€} k3

D) - 144

The main aim of drill work

in
mathematics is —

to clear the new concepts

(B)
(C)
(D)

to understand new formulae
to enhance computation skill

to utilise the knowledge in new
circumstance
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1245

122"

123.

124, @

t25.

41
= A awiqe fafu
i
(A)
(B)

% TSl FT Hel FH

TEET, 931, UReeqT, sy

(C) v, gHer, ey, gReee

(D) THE, UiehedT, wanT, fery

forer 9 W7 AT et & YRR, A
g e &1 ol faeg 1

I HYT § —

(A)
(B)

T e

TETHT T BT

S Sl @

(D) Mo ST T

AL+ T SR [aamd & —

A) 2,8,3

(B) 2,8

() 2,81

D) 2,8,2 : ‘
FI BEH B G TEHERE FA F

§w{nﬁ'aﬂﬁ'uz e w g

3o
(A)

(B)

SO,

S0,

(C) H,S

(D) H,

T W G0 § O SIS 3ue i
g Y W §99TR % WY TH 19
et %ﬁﬁqﬁéﬁqﬁﬁuaﬂ%am
R T aﬂrnﬁ'ﬁﬁuréismﬂ g1 9% 9
0T BT —

YT A

-

(A)
(B)
(€
(D)

9T ARG
T FARTES

1213

(G

122.
- drawing out the best in child and

123

124.

125.

[1001 |

UTET-2

The correct order of steps in scientific
method is —

(A) Hypothesis, Experiment,

Problem, Conclusion

(B) Problem, Experiment,

Hypothesis, Conclusion

Experiment, Problem,
Conclusion, Hypothesis

(D) Problem, Hypothesis,

Experiment, Conclusion

"By Education I mean an all-round

man — his body, mind and spirit.”
Above statement is of —

(A)
(B)
(C)
(D)

Swami Vivekananda
Mahatma Gandhi

John Dewey

Prof. Bagley

Electronic configuration of Al'** is
()= 2. 8.3

B) 2,8

(€) 2.8,1

(D) 2,8,2

When copper turnings are heated
with conc. H,SOy,, it evolves ... gas —

(A) SO,
(B) SO,
(C) H,S
(D) H,

When a salt is treated with dil
hydrochloric acid, a gas cvolves with
brisk effervescence. When this gas is
passed through lime water, it turns
milky. The metal salt will be —

(A) '
(B)
(€

(D)

‘.

mt*;tal carbonate
rnctal sulphate
metal nitrate

metal chloride

[P.T.O.
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126.

127.

128.

129,

UF WRihe 99R uE Aveg Ty ox @
A & SR = % g A gew gy g
y # Ugan 1 WEee 9er % fowm
g —

(A)  nr
(B) 2=nr
(C) 2r
(D) 2n/r

2:0 forT &1 U TUg 10 HiT & S99
fiRmEr Siem €1 9 H§ ggeEd 999 SEH
TSt Setl B (g = 9-8 Hiet /TH0E?)

(A) 196 5
(B) 296 51
(C) 300
(D) =

R
am

(A) 6-25x10'®
(B) 6:-0x10'8
(C) 5-0x10'®
(D)iwl-

518 fexe gfow § o9 3 s H

(A) THoZoTlo
) e
(C) . TR
(D) TEAHET

42

[t

126. A cyclist moves from a certain point X

127

(A)

and goes round a circle of radius r
and reaches at Y. The displacement of
cyclist will be —

X v
(A)= Swr
(B)  2=nr
(€)1 2 2r
(D) 2nifr

. A body having mass 2:0 kg is dropped .

from height 10 metre. When it
reaches on earth, its kinctic energy

will be (g=9-8 m/sec?) —
196 joule
296 joule
300 joule

(B)
(€)

(D) zero

128. The number ’of electrons in 1 coulomb

- 129.

charge is —

(A) 6-25x10'8

(B) 6-0x10'®

(C) 5-0x10'
(D) 1

You can log on to distant computer by
internet facility. The name of that
facility is —

&y F.T.P.

(B) Chatting
(©)
(D)

Telnet

Telephony
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130.

131.

132.

133.

TRT &1 UHl 9Us, Al Uh Ha¥d &9 g
TF THIE I RE TH & ©H W TR o
ST €, ShEeATdl § —

(A) TTeT T
(B) TTeT agd
(C) SRT HIes
(D) SREE

few v fo3 4 wifeqn aEEEHe HEH W
YT TIATU HT T W FT TG TS 2

e i R S T
RSN e T e
gEtgen — |
(A) =&
(B) T

(C) T WIITOT A&l AT

(D) IS THTE FEl T

Fret & T 9 FRE g B P e

TE R ? kK

(A) 3T 1 e T — T
LLEAE IRl e

(B) =T — fafwat st
(C) difer — wifeatear st

(D) HI — ARSI REH
TIEATET

FOE 3Ee, IR ® 9 F 9 &
SUSEAIE O 144, 1447 T 1-33 €
T Ty weTRT S =T Gl g 2

(A) HEE EA
(B) RO &I ael,
(C) Gl

(D) Ha H SR

43

UTET-2

130. Collection of data which is stored as a

131,

132

133.

1001

unit in a place systematically is
called —

(A) Data sheet

(B) Data validity

(C) Data field

(D) Database

In the given picture, when sodium
bicarbonate is added, what will be the
effect at the rate of photosynthesis ?

~

| Hydrilla .
(A) Increase
(B) Decrease
(C) Photosynthesis will not occur
(D) No effect

Select the incorrect option from the
following pairs of disease and its
causes :

Wart

(A) disease of potato
— Synchytrium endobioticum

(B) Cholera — Vibrio cholerae

(C) Polio — Coxiella burnetii

(D) Tuberculosis — Mycobacterium

tuberculosis

The refractive indices of kerosene oil,
turpentine oil and water are 1-44,
147 and 1:33 respectively. In which

of these materials light travels
fastest ?
(A) Kerosene oil
(B) Turpentine oil
(C) Water
(D) Equal m all
| [SPT-0
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135;

134. 719 RU 7T 9Hg IER & 30w 399

wifere T8 & o= aret 9el fashed 9T ¢
a) ST i) 3TRE 39
b) TFHd ii) V&Y 9
c) IFERE iii) U 9
d) BRI A iv) I 7"
a b ¢ d
(A) ) (i11) (11) (iv)
(B) (1) (ii1) (1) (iv)
© @6 @ ()
(D) (i) (1) (ii1) (1v)
G 379 Bl § —

A) W5 H U U gHE H HROT gH
Ft HHl Sl el 384 9

(B) X &% ai9nH H g Y T g
% 334 d

(C) argHves ¥ faey Uer gH |

(D) & H T M AHEE FH H

136, TS ] Al @ a1 g | F:i 2

(A) WEHTST & 3UScH |
(B) W&Téﬁqﬁvh#
(C) Y™ & ¥auT §

(D) VRIS & o &

137. 39’ &1 @ arg 9 & —

(A) ®eF THR

(B) =T el A

(©)
(D)

44

135.

- (©

136,

137,

(W]

134. Choose the correct option of human

body parts with its secreted juice :

a) Stomach 1) Pancreatic
juice

: b} ‘Liver i) Gastric juice

c¢) Pancreas iii) Bile juice

d) Sxpall iv) Intestinal juice
_intestine
a b c d

(A) () (11) (11) (iv)

(B) (i) (1ii) (1) (iv)

(C)  (in) (1) (1) (iv)

o) @ B G @)

"Tsunami' is produced — '

(A) because of higher water waves
developed due to earthquake in
sca

(B) because of hot air waves

developed due to rise in the
temperature of sea

due to disturbance in
atmosphere
(D) due to pouring nuclcar wastage

in sea

Clear sky is obscrvéd blue because of

(A) refraction of light

(B) scattering of light

(C) polarisation of light

(D) diffraction of light

Edible part of Pomegranate is —
(A) Pericarp

(B) Endocarp

(C) Succulent seed coat

(D) Placenta



(A) UEEH

(B) trafeee
. (C) wHiceerEs
(D) THiesH 3=

- 139. BleigciEEs Uo7 UHl ghh §, W gREd

FA & —

(A) TEEHS T HI GHRIG Fell o

(B) Wmmﬁgﬁmﬁ

(© T St =1 v S A

(D) T T fo w

140.@ﬁwﬁwﬁaﬁaﬁﬁ

SEHUSHAIT &R T Fel FH & —

(A) TOERER, WD, HSERER,

B) SOREm, AR, i,
TG, TRATERIER

©) TR, R, e,
WITHER, ZTERRET

(D) HTERRR, YRR, TEFEEHR,

TAT TRaT ST & —

138. Urotropin is obtained from ammonia

" UTET-2

....... i s WRICh 1S Sused. In

urinary diseases —

(A) Acetone

(B) Acetaldehyde
(C) Formaldehyde |
(D) Acetic acid

139. Photoelectric cell is a device, which

converts —

(A) chemical energy into light energy
(B) light energy into electrical energy
(C) electrical cnérgy into light energy

(D) magnetic enebrgy -ir}to | electrical

energy.

140. What will be correct sequence of
atmospheric layers while going

upwards from earth's surface ?

(A) Troposphere, Stratosphere,
Mesosphere, Thermosphere,

Exosphere

(B) Stratosphere, Mesosphere,
: Troposphere, Thermosphere,

Exosphere

(C) - Exosphere, Thermosphere,
Mesosphere, Stratosphere,
Troposphere

(D) Mesosphere, Thermosphere,
Exosphere; Troposphere,

‘Stratosphere

[ P.T.O.
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141.

142.

143.

144.

Th O W oeHe o
15257 2p° 3s%, 3p%4s! 3a° &1 E
RO | T T AT T Hlod 8 —

(A) p =AH, g e

(B) d =i, Gk

(C) d =i, I S

(D) s IR, 3Te

(A) 15 85T ¥ 20 &

(B) 20,000 &S ¥ 25,000 &2
(C) 10T T 1585
(D) 20 &S § 20,000 &5

fal off $rgex d S& ®iE w1 g & al
% T o9 TR0 | qOT BN 2
(A) ShRaT - FHawr iy

(B) a1 — whwaT —
(C) ™ — Fewr — Uishar
D) & > fim -
T H IARAT oo % HRUT TH
T AT & —

)

(B) ¥ol TR Hivrehid

(C) e BIER HIOThIT

(D) eI

ot ® Yot foeiey g g —
(A) S 3R =¥

(B) W3R =t

(C) TaRE

(D) IR &

46

141.

[w]

Electronic configuration of an element
is 132,252,2p6,332, 3PS aslad>.

. The block and period of the clement

in periodic table will be —

(A) p block, IInd period
(B) d block, IlIrd period
(C) d-block, IVth period
(D) s block, Ilird period

142. The audible range for human ear is —

143.

144.

145.

(A) from 1.5 Hz to 20 Hz

(B) from 20,000 Hz to 25,000 Hz
(C) from 10 Hz to 15 Hz

(D)

from 20 Hz to 20,000 Hz

When a computer works, what will be
three steps to complete it ?

(A) Processing —» Ihput > Output
(B) Input — Processing > Output
(C). Output — Input -> Processing
(D) Input -> Output -» Processing

Clotting of blood occurs due to the
presence of . o in blood —

(A) haemoglobin

(B) white blood corpuscles

(C) red blood corpuscles

(D) platelets :

Soluble vitamin pair in the water is —
(A) Band C

(B) Aand D

(C) Aand E

(D) Dand K
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146.

147.

IR 3% IR T TEEE GFE —

(A) CaS0,.H,0

(B) CaS0,.}H,0

(C) CaS0,.2H,0

(D) (CaS0,.H,0),

fasm & wfawrenel forme st Frgarsi

Tor ¥ fou = § @ v afus wwEsw
B ?

(A) HESR BHE H AE F @ 39 URe
ST

(B) 39 e & AR S

(C) & gREsEs & w39 w9
T

(D) -3 % o 39 FRfeE s

148 fas= foeor § wge RN B A

149.

150.

Serieh] | GHET HIAT
a) FfeE seEs i) Soudo WHIR
b) ' BfeRie ANSHET ii) A Yo HTHeT

¢) YTEE USRI iii) GTHEA Tho ferae
SRR

d) @ AERET iv) S ARTEH
A

a b c d

(A) (i) (1) (11) (iv)
(B) (i) (iv) (i) (i)
€ 0 (ii) (i) (iv)
(D) () (i) . (1) (i)
T e IR ERT B 8 —
(A) WTEES AEH
(B) wHE SR
(C) fediiaes ST
(D) STUEEH
fr= 4 9 a=ifos mfsrtz et o TR
e Ve & TE 3T § —

firg] o T gE1 31 e |

(B) UTTET ST I = |
(C) =TT sl WA AT e |
(D) el H %ok AT =MTeT |
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146. Chemical formula of Plastcr of Paris

is —

(A) CaS0,.H,0

(B) CaS0,.H,0

(C) CaS0,4.2H,0

(D) (CaS0,.H,0),

Which of the following is more

147.

148.

beneficial for enhancing abilities of
gifted student of science ?

(A) To motivate him for helping weak
students

(B) To make him monitor

(C) To help him in framing new
projects '

(D) To instruct him for self study

Match the innovations used in

science teaching with their

developers :

a) ' Supervised - i) B.F. Skinner

., study _

b) Descending ii) Norman A.
programmed Crowder
instruction

¢) Branching i1i) Thomson F
programmed Gilbert
instruction

d) Linear " iv) Daisy
programmed Marwin
instruction
a- b c d

@& @ o0 - 6@

(B) (i) (iv) (1) (1)

(@€ @ (11) (i) (iv)

(D) (W) (1) (1) (1)

149 . ‘In food chain, herbivores are.—

150.

[1001 ]

(A) primary producers
(B) primary consumers
(C) secondary consumers
(D) decomposers

Which one of the following is right
method to dispose of non-degradable
waste products ?

(A) It should be buried under the
soil.

(B) - It should be burnt co mplctclv

(C) It should be sent to recycling
centres.

(D) It should be thrown into the
canal.

[P.T.O.
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SOCIAL STUDIES
S B | [ A S o — 5 OF. A athal Was v 00 2
(A) TS FITA T TENE TH SHRE (&A) A centre for business and a dock
e in Harappan civilization
B) A centre for agricultural
(B) W &I HY qhles o F B) = :
technique of Harappa
(© T w e ! A FA H B (C) A centre for art of sculpture of
(D) Toy e =1 e & Harappan civilization
92. ‘dafggifas’ % wiEm R S 2 (D) Education centre of | Indus
| Civilization
(A, SEYE (B) TeEiy .
» 92. Who wrote ‘Panchsiddhantika’ ?
S 3 (D) ; (A) Aryabhatta (B) Ashwaghosha
93. 191§ § 7% 319 W& & S uferw sik (O Brahmagupta (D) Varahamihir
09 T HeTgal o ¥ 2
93. Which one of the following cities lies in
(A) sl @) A both Asia and Europe continents ?
(C) s=ra (D) 9IT- (A) Berlin (B) Rome
94. T ®F-G UF HH 99 ¥ S - feadt (€ Istanbul B roene o
o 4 g el wed & 2 94. Which is the only one language in
@) e B Chinese-Tibbetan script that is printed
~ on Indian currency note ?
€ 3 (D) : (A) Assamese (B) Bengali
95. I9 2011 Ht GFPWFH % AHS F FTER (O Manipuri (D) Oriya
ITMEUE Tl TEEAL & —
95. According to 2011 census. the
() 84,60,942 [, population of Uttarakhand is—
(Bj 89.75.454 B 02 :
(B) 89.75,454
1.01,16,752
o]0l © 1.01.16,752
(D) 1.20.15.900 (D) 1,20.15.900
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96. §Ec H ‘U W’ F NI fFA YER F ¥ 96. What types of questions are asked in

I8 91 © 7 : ' Parliament during ‘Question hour’ ?
(A) TRIfHT (A) Unstarred questions
: (B) Starred questions
(B) dwifwd g4 .
(C) Both of these types

© ﬁ S FHR F . (D) None of these
: (D) 378 | FIE T8I 97. Which of the following revenue éystcm
97. € FHATAS 7 qoeg sgiod &t = d 3 was applicd by Lord Cornwallis'?

g g a,f[ mm ? A) - Ryotwari (B) Kastkari

- . ' C). Mahalwari D) Istmarari

@ B) HEE ). alwari (D) Istmarari

98. When it is 8:30 PM in India. the

© i (D) standard time of England will be

98. & WRd ® ¥4 % 8-30 9% W ¥, 9l TAvs (A) 3-00 PM @) 3-00 AM
¥ g% 99 e — | '

(C) 7-30 AM (D) 3-30 PM
@) 3-008M™ (13) 3-00 91d: 99. By which name is Nainital lake known
(C) 7-309m: (D) 3-3098 in Skand Purana ? ¥
99. e gie = =< U A fr A @ fee (A) Saptarishi Sarovar

9 9 S TR 2 (B) Agastya Sarovar

(C) Tririshi Sarovar

(A) TR U (B) T 9UW
©) = e (D) Y=ERiT R 100

(D) Panchrishi Sarovar.

. The folk song of Uttarakhand which

100. STRIEYS F1 I8 e 7a s foxs, fagm, is sung during separation and distress
AT B A ST T, 9% € — is— :
N i @ =i (A) Chanchari (B) Nyouli
3 (C) Jhumelo (D) Chaunfala
©) gl (D) e

101. What was the function of officer

101. 7@ ¥M99 Wonel § ‘SeH-T 9’ AHE '
siferpTdt =1 F HE o1 ?

named as 'Diwan-e-Tan' in Mughal

Administrative system ?

(A) SIS YfH 1 g HAT (A) To manage barren land

(B) Ha AT W TR W@ (B) To keep eye on all officers

©) = W‘*ﬁ e A S (C) To take care of salary related
matters

(D) SR %1 feme T (D) To keep account of estates

| 1001 | [ P.T.O.
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102. ‘@Ha 1 g5’ T o @ @ 2 102
(A) STeR 3R [ Fim
(B) R R T A
(€) =R iR fgsw= we
(D) =R 3R w9 @

103. Tifaet 3% %1 9 5 o F a0

_ (D) YREE ©2 9%

104. STU@vs ® = ¥ § 9% =9 91 SEEE
forenem &, oo Fow sgfa SHenfadl %
forenfea g ya91 1 ey 1 w ¥ ?

() TS i TEed fameE
(B) SEE TEeg faaey

(C) =& Tid ErEE g
(D) THasa EEE faaea

105. FHES % 915 I fgdig oy & @ w105

IS | IEA W F GO HX A A W@

@ 9 3Wfy ¥R @y 2

() HERTST (B) =Radi

(©) v faswAcea (D) HeTEER
106. YfH &1 A19 % YR W 9 T R ‘v

foear’ 399 F1 sen 999 Wew fews 106

A & ° e T 2

@) AensER faest

B) Hewg foq g

() TFis we T

D) faF=zdE .

107. =1 % | 31 @ foseq eyl we Asm %1 107

fovrwar =1 wefdfa s € ?

()  STETON W I

(B) TS =1 WAl

(C) =afeTa 99 yeulA

(D) 39dw |t

| 1001 |

104.

W

“The war of Khanwa' was fought

between —

(A) Babur and Rana Sanga

(B) Babur and Ibrahim Lodi

(C) Babur and Sikander Lodi

(D) Babur and Hayaat Khan

The name of Imperial Bank was

changed 1lo# siEE. TS ohe after its

nationalization —

(A) Punjab National Bank

(B) Bank of Baroda

(C) Allahabad Bank

(D) State Bank of India

In which of the following residential

school in "Uttarakhand there is a

provision of admission for schduled

tribe students only ?

(A)  Rajeev Gandhi Navodaya
Vidyalaya '

(B) Jawahar Navodaya Vidyalaya

(C) Kasturba Gandhi Avasiya
Vidyalaya

(D) Eklavya Avasiya Vidyalaya

After Samudragupta, Chandragupta Il

took over to the throne of Magadh.

Which of the following titles he

undertook after defeating Shakas ?

(A) Maharaja

(B) Chakravarti

(C) Shakari Vikramaditya

(D) Mahasamrat

In whose rule first of all the

calculation of land revenue and ‘per

Biswa’' yield was done on the basis of

land measurement ? '

(A) Allauddin Khilji

(B)' Muhammad Bin Tugalaq

(C) Firoz Shah Tugalaq

(D) Sikander Lodi

."Which one of the following options.

shows the characteristics of ideal
lesson plan ?

{A)  Use of cxamples

(B) Simplicity of language
(C) Individual guidance
(D) All of the above



W

108.

109.

110.

|2 3 0

112.

‘T Y’ fre 9w @ gEfug € —

(n) BT (B) =fg
(©) Feard (D) sEfg=a

AEgSH, ' gF 1 AuFER AfufrEg, 2005

H forg ¥ % S difed a1 9 6T

FHAI T ?

@A) 6(1) _ (B) 7 (1)

© 8(1) ) 11 (1)

= § g feus wifgym ‘faen =1 sifusr

FAfufam’ § 7= foar 7 2

(A) 6-14 98 % ¥t I=1 &1 H.3ew o
Afard e gem & ;

(B) Fem § 999 & fow gdienm a9 shyH

9 giday

(C) == ! ISHIR HI RIS AT

(D) IRy e gof &3 &1 feafq o
e ga& o

= o il 6 Yew 1 §&F 9§ ?

@A) HE (‘B] fasim

(C) Tian (D) STEOT=A T

TG e e 9Reg & ‘A 9o |

A & €I AUl 1 T fea

T ¥, fom H sremmass e & g fou o

€ >

=1 § @ =9 = g A g’ | afila

T ? '

W fafre degfeE

(B) T % AIER 3239 TH TSAHH
alls :

(C) HcHieh Fishan

(D) TeAfE fogeal & fou ase d9R
F H gl

108.

109.

110.

171k,

12

UTET-2

‘Durand Cup’ is associated with

game —
()  Hocky (B) Tennis
(C) Football (D) Badminton

Under which article of 'Right to
Inforamtion Act. 2005'.
information can be obtained by the

the desired

applicant ?

) 6(1) B 7.(1)

©) 8(1 (D) 111(1)

Which of the following is not provided

in 'Right to Education Act’ ?

(A) Free and compulsory education to
all children in the age group of
6-14 years

(B) Ban on entrance test and
donation in a class

(C) Employment Guarantee to child

(D) To take Public examination after
‘completing clementary education

In which of the following states,

‘Konkani' is main language ?

(A) Kerala
(B) Mizoram
(C) Goa

(D) Arunachal Pradesh

In the ‘Approach paper’ of-National

Council for Teacher Education the

working system according o

community has been explained. In that

‘Approach paper’ suggestions for

teacher education are made. Which of

the following suggestion is not

mentioned in that approach paper ?

(A) Specific recommendations

(B) Format of syllabus and objectives
according to levels

(C) Evaluation process

(D) The process of making budget for
secondary schools

R T:0:
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113. Tave =R e & geed fem @ —

A ‘(B M H
(C) SHen § : (D) oz &

114.9%%%%%%@3%&7
a5 #i 2 '
(A) 40 99 (B) 55 gfavrd
(C) 80 gfasrd (D) 25 gfavra

115. faamea ° e g 9am Iy s34 &

fera fort AT 1 i e = 2

() wmEifs fafayar & 9fd a=m #

B) == . IRl HR R % ufa
TSIl % 7S I

(© =t gul & gfq wfewm@ 3 e =
qﬂl—ﬁ"

(D) STgF |l ‘

116. gt fage faug 1 foua ag & femw
T areish %1 JIUROTCHS: 99 faigd i
S @ FaE § A 9§ gRady gt T8
B 2
(A) m'gﬁqzwﬁam@@aﬁw

IEEAE]

(B) TS TEl- H1 TS aHie
ExeicaiecifcaReCats

(C) A = &7Har o faemg
(D) Afaew emar =1 fgo™m

.!W

113. The hcadquaftcr of World Trade

Organisation is situated at —
(A)  Hague (B) Prague
(C) Geneva® (D) Vienna

114. How much per cent of income tax

proceeds. to be given to states by

Union. was recommended by First
Finance Commission ? '

(A) 40 per cent (B) 55 per cent
(C) 80 per cent (D) 25 per cent

115. What should a teacher do to maintain

the conducive environment in school ?
(A) To pay respect to social diversity

(I3) To care for the dignity and rights

of children

(C) Tolerance and Respect to all
religions

(D) All of the above

116. During the ieaching of Social Science

content ' if' “the  ~ conceptual
understanding of child is developed.
then which of the changes will not be

observed in child ?

(A) Development of Independent

thinking on social issues-

(B) Development of ability of critical

analysis in social issues
(C) Development of Cramming power

(D) Development of Moral ability

| 1001 |
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117. YRd ® S §U87 ¥ =iy ‘He-ds

BECT

119:

Fd%T {5y yeu § T Sidar & 2

53

(A) TSR (B) Y 9w
(€ STErs (D) HYUR

% oW Wel W ¥ yfowa sHEEen T §
Y HA T —

() STIH

(B) TgF T=A THER
() —gsierve
(D) fomTR

UTET-2

117. ‘Neeru-Mceru' programme related to

water collection is going on in which of

the following states in India ?

A
(B)

(&

(D)

Rajasthan
Andhra Pradesh :
Uttarakhand

Manipur

118. The country where cent . per cent

IR o e mEgAl gard few foem

I AR FAd § 2

() <faor ofvem | SR g
(B) I g8 9 fam 9w
(C) =faror afvem & ST 9fy=d
(D) SR ufv=m 4 o 9fv=m

1S

120. 59 fe9 3R wa =1 aafy suex g6t 3, 9

121

gd w1 foreol et wedt € —
(A) 3ITH gg W
(B) ‘{qw%@nq{
(C) cfaeit ga w

(D) FF W@ W

ITETS F1 Jiog §d At feod & —
() wrETETsd, SEUeE H

(B) FRER, el #

FAEd, gER |

RS, AoEret °

(©)

(D)

population resides in cities is —

(A)
(B)

©)

(D)

What

Japan

United States of America
New anland'

Singapur

is the direction of summer

monsoon currents in India ?

A
(B)
(@)
(D)

From South West to North East
From North East to South West
From South West to North West
From North West to South West

120. When day and night are of equal time.

121

| 1001 |

the sunrays fall straight at —

A
(B)
(@)
(D)

The

" Uttarakhand is situated at —

13V
(B)
©)

(D)

North Pole

Equator

South Pole

Tropic of Cancer.

of

‘famous ‘Sun Tcmplé'

Lakhamandal, Dehradun
Dwarahat, Almora
Kankhal, Haridwar

Katarmal, Almora

{5 s P ©
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122

123.

124.

125

126.

127

R 1 HHF F99 ( IR ) W@ T —
() 82° 30/ gl SRR
B) 97° 25’1@?%
(C) 68° 7! gal =R

76° 5/ gt e ‘
Creie i bcett il corle e il
=49 § fHg 99 ¥ 9 9§ 2

foy
ESipil
TER TS (Y T & —
FHIE 98 W |
(B) o0 A8 W

(D)

(A) (@) 3=

(@) (D) TrmET

)

© werE W

(D) 7HIT & W

‘S5l 1 AR AR a5 % T 2
IEEEIRI

(B) THFW THEH

<A wr

a1 TR oo

(A

(&)
(D)
‘TUR e’ W Ty facelt wen w1 gvE © 2
W = B) =

R (D) A
‘TeRrel HfeR’ fFw usEwe F qensil gr
Ffda feeg 7w 2
() TS 5 F
(C) =RAEN

©

@) = H

(D) Yood 99 &

54

122,

123.

-

124.

125.

126.

127,

| 1001 |

®)

-

Standard time meridian of India is —
@) - 82° 30! ot
97° 25' East
(©) 68° 7' East
(D) 76°5' East

the known as
‘Brahmputra’ is known by which name

in China ?

In India, river

Indus (B) Awang

(C) Sangpo (D) Thangwo

Sardar Sai’bvar Dam is constructed
on — )
(A)‘ Kaveri river
(B) Krishna river
()

(D)

Mahanadi river

Narmada river

‘Back to Vedas' was said by —
(A) Vivekananda

[B). Ramkrishna Paramahamsa
(&)

(D)

Dayanand Saraswati
Bal Gangadhar Tilak

The influence of which foreign style of

art is on 'Gandhar style of art' ?

Egyptian (B) Chinese
(C) Roman (D) Greece
The 'Khajuraho temples' were

constructed by the kings of which
dynasty ?

(A) The Rajput
©

(B) The Chola

The Chandela (D) The Pallava
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128. ‘seqatae’ forg 59 &1 w9 a1 ?
(B) Taast g9
(D) e =

W =R W

© T
129. ‘wogds s’ foran o € —

() fedew |

(B) *agH

(C) Hos 3uHuE 4

(D) TETHRA H
13().‘Wﬁww'&;mﬁ;

(A) Tfo Hio 3o ITISHT

(B)  TRE TE

(©) Hifqen Fet

(D) A= HIEEdl

55

128.

129:

130.

131. 995 &1 954 7 @ gC +f f=9 9 9 =4

T i FEaE! § giasm X ghda § 2

(A)  THETE e
(B) ~ HETATEAE!
©) g=A Faa g

131.

- partlicipate in the

UTET-2

'MMtutmish’ was the emperor of which
dynasty ?

(A) Sayyid dynasty

(B) . Khilji dynasty

(C) Gulam dynasty

(D) Lodi dynasty

The ‘Satyameva Jayate' is taken
from —

(A) Hitopadesh

(B) Rigycda

(C) Mundak Upnishad"

(D) Mahabharata _
The founder of "Satyashodhak Samaj’
was —

(A) Dr. B. R. Ambedkar

(B) Narayan Guru

(C) Jyotiba Phule

(D) Dayanand Saraswati

Who

among the following can

working of -

Parliament without being its member ?

(A) Auditor General

132.

(D) Jfafgx S 1a
yd & dfaum =t yeEa § feg dfgum
Y9 & g gl IR gufRes’ s

132.

(B) Attomcy General
(C) Chiefl Election Commissioner
(D) Solicitor General

Under which of the Constitutional

= Ao fF T g ?
(A) 429 geeA
(B) 529 |3ieA
(C) 4691 GeNed

(D) 434 doyA

amendment the words ‘Socialist and
Seccular” were added in the preamble

of the Constitution of India ?
(A)  42nd Amendment
(B) 52nd Amendment
(C) 46th Amendment
(D) 43rd Amendment

ERTO:
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133 gai= =mareg A e %9 (o ) ® fofg - 133,

134.

135.

136.

137.

2 U = frw fF wue, SRy ¥ Ow
W&y H gRadd T8l & Fehal 2

MeAHY F9 °
FHYEH<T YA 9 H
foen facg g ®

.
(B)
(@)
(D) T § FE T

dfaud & f5e A7=9% & F=0d 9d &
foreft ot Tva o Tsrafa wEE @ny fEar S
g2

g1 370

A (B) &0 352

(C) =W 356 (D) =W 360

IRA § IUHET SE sfatas aiia gen —
() 19664 B) 19764

(C) 19864 (D) 1996 °

1 <=1 # 9 F SFTE ( ASEAN ) %1
T TR 7

() ITEHRE B) MR

(©) o =ifen (D) freidg
o fova efegeten ¥ IwAl g SEF
FH FE ?

(A T T A

(B) WET TG ST

(C) F=r it SEn

(D) HHUZ F=M

56

134.

135.

136.

137.

1001
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In which case the Supreme Court of
India made it clear that Parliament can-

not change the basic structure of the

" Constitution ?

(A) Golaknath case

(B) Keshavanand Bharti case

(C) Minerva Mills case

(D) None of these

Under which article of the

constitution. the President rule can be

imposed in any state of India ?

(A) Article 370 (B) Article 352

(C) Article 356 (D) Article 360

In India, Consumer Protection Act was

passed in —
A) 1966 (B) 1976
(€ 1986 D) 1996

Which of the following is not a
member of ASEAN ?

Indonesia (B)

A

Singapur

(C) South Korea (D) Phillipines

Which of the following is emerging
industry in world economy ?

(A) Cotton Textile Industry

(B) Iron -Stccl Industry

© Infoﬁation Technology Industry

(D) Cement Industry
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138.

139

140.

141.

‘gerfofn =g’ afEsE & —
() o foga wfea gREsE
@) g e sREE
(C) T g TR& TR
(D) &I HASH ARASH

YIS FE & 3T —
. e ses
1. U 1 ATaArh
[1]. Safes SFEHR 1 Seher
V. <= w1 e
TAF! WEl He HH T —
T RS e ) G
B IL ML IV. l
(C): TE- T I

@)1, T PRE T
Wﬁmmﬁqﬁmﬁéﬁm
39 F HA ?

(A) T I Fe ° g

B) B TEEH <

(C) B AEE HE <

(D) TR T wE <

s fag@ & HeA9% S Ievd B
m_

(A) TS TGl 1 faTE ST

(B) mmsaawwﬁarﬁnfmm
(©) wmEifsE TaEns &1 gHEE gg
(D) T & |t

57

138.

139.

140.

141.
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‘Swarnim Chaturbhuj' project is —
&)
B)

Hydro-electric power project
National Highway project

© Wildlifc conservation project
(D) Rivers linking project

The parts of project work are —

[ Lo write a report

II. to observe a place

I11. to collect related information
1V. identification of place

Their correct sequence will be

@ L
(B)

Iy 11, IV

I1. IlI.. IV, 1

(€)' TV TR

D)k TG IV -1

What will you do to develop creativity
among students ?

A
(B)

Teach the students in the class
Give homework to the students
(C) Give project work to the students
(D) Give innovative work to the
students :

The aim of Social Science teacher

should be —
»
(B)
()
(D)

to develop social harmony
to recreate the social order
to solve social problems

all of these.

[ B T.O.
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142. &l H gEfas €9 4 39ferg s= &

143.

144.

145.

Yreared & fou 39 71 w87 2

(N FEIfSE FhfE | Fay wE

(B) srufavardl 1 391 w31

(©) ¥9r9 & {fa famst 1 faverwn w60

(D) FHTS ®1 JUEAT S FH FE@ TH
DRl H] WIHIE FIH B FA

s fag & sl 1 B & S

wifeT —

A FHSE 9u=sl w1 9=

(B) Hmmm%ﬁzﬂmm

(C) T3 wmifSs iAAs gRad=l & 99

(D)'ﬁwﬁmxmésﬁﬂfm%q
IYgF |t YHR w1 F7

dF ok | wgz ¥ o gen wyehm wm
el € — i

N =
iR

g9
(D) ===

()
(&)}
HEGRAA 1 Hd uRea dfawm & fFa
STgeE § A & 2
() =T 16
FT=T 18

(B) =T 17
(D) =T 14

(&)

58

143.

142.

144.

145.

1001 |

[ !
IW|

What will you do for the promotion of

socially ignored students in the class ?
(A) Comment on social evils

(B) Ignore the superstitions

(C) Analyse the social customs

(D) Ask to reduce social evils and will

promote good habits of society

The Social Science teacher should give

the students —

(&) knowledge of social problems

(B) remedial knowledge of social cvils.

(&)} know]edgc of new social

structural changes

(D) all of the above knowledge for the
creation of virtuous system /

society

The land surrounded three sides by

sea is called —

(A) Coast (B) Island

(C) Peninsula (D) Delta

In which article of the constitution of

India, abolition of untouchability is

given ?
(A) Article 16 (B) Article 17
(C) Article 18 (D) Article 14
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146. T/ & & =9 © 9RAE I agURE

147.

148.

149.

HOHT T8 § 2

© ufeeH s

(D) 98 & i Tl

o THo Mo fog wHal-od & —
() gl S TUEE |
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Which of the following Indian company
is not a multinationai company ?

(A) Tata Motors

(B) Ranbaxy
(C) Asian Paints
(D) None of these

ISI mark is related to —

(A)  Qualily of goods

(B) Quality of food products

(C) Quality of Jewellery

(D) Quality of life values

In which country. maximum sugarcane

is produced ?

Brazil

)

(B) India

(C) Cuba

(D) United States of America

In 1893, in which city of USA, Swami
Vivekananda delivered inspiring
speech as a delegate of India in the

Parliament of World Religions ?

(A) New York

(B) Chicago
(©) Washington
(D) California

B0
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The function of ozone layer in

stratosphere is —

(A
(B)

©)
(D)

the

pressure of the earth

to maintain

atmospheric

to reduce the

carthquake

frequency of

Lo avoid the [ailures of monsoon

to stop ultraviolet rays to come to

ecarih
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Important Instructions
Immediately after opening the scals check to ensure that there is no defect in the

Question Booklet and all the pages arc intact. If any defect is detected immediately
inform the Room Invigilator. If necessary the Question Booklet will be replaced.
The candidate has to answer 150 questions in all. Each question carries 1 mark.
Answer the questions in the OMR answer sheet only.

Read the instructions given in OMR answer sheet carefully before answering.
There are four alternative choices against each question. Select the correct and
most appropriate choice and mark it with bluc/black ballpoint pen in the right
bubble of the OMR answer sheet in such a way that ink does not spread out of the
bubble. '

Question Nos. 1 to 30 are related to Child Development and Pedagogy.

Qucstion Nos. 31 to 60 are related to First language — Hindi OR English.
Candidate has to sclcci the questions of only one language as the First language.
Answer the _questions of the language which the candidate selected as First
languge in his/her application form.

Question Nos. 61 to 90 are related to Second language — Hindi OR English
OR Sanskrit OR Urdu. Answer the questions of only one language which the
candidate has selected as Second language in his/her Application form.

Be careful that the language selected as First language cannot be taken as

. Second language.

Question Nos. 91 to 150 are related to Mathematics and Science OR Social

Studies.

The candidate has to answer the subject Mathematics and Science OR Social

Studics as selected by the candidate in the Application Form.
Rough Work can be done in specified space of the Question Booklet.
Do not waste time in solving the questions. If you cannot answer a question

proceed to the next one.

Do not fold or damage the OMR Answer Sheet any way.

After examination submit your OMR Answer Sheet to the invigilator. Candidates

are allowed to take away the carbon copy of OMR Answer Sheet and Questions

booklet.




